
Form No.   101297

RA202
RA202K
RA204

RA204K
RA206
RA206K

Parts List for:

1

2

3
4

5
6

7

8

9

10

6
1112

13

14

15

16

17

18

Note: Shaded areas reflect last revision(s) made to this form.

SINGLE-ACTING,  SPRING RETURN,  ALUMINUM

HYDRAULIC CYLINDER
Max. Capacity:  22.2 Tons at 10,000 PSI

RA202 & RA202K  -  2-1/8" Stroke
RA204 & RA204K  -  4-1/8" Stroke
RA206 & RA206K  -  6-1/8" Stroke

Sheet No. 1 of 1

Rev. 1 Date: 15 Sept. 1996

Tech. Services: (800) 477-8326
Fax: (800) 765-8326

Order Entry: (800) 541-1418
Fax: (800) 288-7031

SPX Corporation
5885 11th Street
Rockford, IL 61109-3699 USA

Internet Address: 
http://www.powerteam.com

®

© SPX Corporation



1 350439 1 Retainer Nut (Torque to 70/80 ft. lbs. wet or dry)

2 *204960 1 Rod Wiper
3 15911 2 Cap Screw (1/4-20 X 5/8 Lg.)

4 250735 1 Front Plate
5 10984 1 Cap Screw (3/8-16 UNC x 1-3/4 Lg.; Torque to 400/425 in. lbs.)

6 *12042 2 Copper Washer (9/16 X 3/8 X 1/32)

7 420503 1 Piston Rod (For RA206 & RA206K)

420504 1 Piston Rod (For RA204 & RA204K)

420647 1 Piston Rod (For RA202K & RA202)

8 250992 1 Trade Name Decal (For RA206 & RA206K)

250991 1 Trade Name Decal (For RA204 & RA204K)

251135 1 Trade Name Decal (For RA202K)

252233 1 Trade Name Decal (For RA202)

9 58296 1 Cylinder Body (For RA206 & RA206K)

58297 1 Cylinder Body (For RA204 & RA204K)

58376 1 Cylinder Body (For RA202K & RA202)

10 *250874 1 U-cup
11 12577 1 Cap Screw (3/8-16 UNC x  1-3/4 Lg.; Torque to 400/425 in. lbs.)

12 250876 2 Spring Retainer
13 250871 1 Extension Spring (For RA206 & RA206K)

250870 1 Extension Spring (For RA204 & RA204K)

251136 1 Extension Spring (For RA202K & RA202)

14 25600 1 Ram Half Coupler with Plastic Dust Cap
15 350547 1 Handle (For RA206K & RA204K only)

350666 1 Handle (For RA202K only)

16 250884 1.29 ft. Strapping (For RA206K, RA204K & RA202K only)

17 250881 1 Tensioner Plate (For RA206K, RA204K & RA202K only)

18 251035 1 Hex Soc. Screw (7/16-14 UNC X 1" Lg.; Torque to 90/100 in. lbs.  
For RA206K, RA204K & RA202K only)

PARTS INCLUDED BUT NOT SHOWN
*203908 1 Warning Decal

Part numbers marked with an asterisk (*) are contained in Repair Kit No. 300631.

Item Part No.
No. No. Req'd Description

Refer to any operating instructions included with this product for detailed information about operation,
testing, disassembly, reassembly, and preventive maintenance.

Items found in this parts list have been carefully tested and selected. Therefore: Use only genuine
Power Team replacement parts!

Additional questions can be directed to our Technical Services Department.

Assemble spring flush
with end of retainer.

Assemble spring flush
with step on retainer.

Note: Shaded
areas reflect

last revision(s)
made to this

form.

Parts List,  Form No. 101297,  Back sheet 1 of 1

SPRING & RETAINER ASSEMBLY



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


